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1. (a) What do you mean by guided media? Explain about the different guided
media used for communication?

(b) Tlustrate how asynchronous transfer mode can be contraste he syn-
chronous T1 carrier? 0+-6]
2. (a) What are the fields in message header of e,,,; syste
(b) What are SMTP types & subtypes? Explain t [6+10]
3. (a) Discuss about the architecture of DQDB ita® Area Network?
(b) What is the advantage of an open sys nment? Discuss the different
functions performed by vario S S"model. [8+8]
4. Define route. Why routin rithm is réquired. Routes can be predetermined

and then use them whe uired) (or) Routes can be determined when needed and
use them immediatelyl Fi etRod is proactive and second method is reactive.

Which one is pr or wized networks? Justify your answer. [16]
5. (a) Whapisthedifferefice between Slow Start and Congestion Avoidance of TCP?
( at g€ theformat of ATM Cell?

WhyRATM uses fixed size cells? [8+4+4]

in LANs and WANSs?
(b) Discuss in detail the working of token bus? [8+8]

7. (a) Consider an error-free 64 kbps satellite channel used to send 512 byte data
frames in one direction, with very short acknowledgements coming back the
other way. What is the maximum throughput for window sizes 1,7,15 and
1277

(b) What is pipelining? What are its advantages? What are the issues that raises
when pipelining frames over an unreliable communication channel? Mention

the approaches to deal with these errors? [8+8]
8. (a) Identity the address class of the following IP addresses

200.58.20.165, 128.167.23.20, 16.196.128.50, 150.156.10.10

250.10.24.96

(b) Convert the above addresses to binary representation.
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(c) A Class B network on the Internet has a subnet mask of 255.255.240.0. What
is the maximum number of hosts per subnet. [5+6+5]
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Answer any FIVE Questions
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(a) What is the difference between Slow Start and Congestion Avoidance of TCP?
(b) What is the format of ATM Cell?
)
)

Why ATM uses fixed size cells? 8+4+4]
Consider an error-free 64 kbps satellite channel used te#Send, 512 byte data
frames in one direction, with very short acknowledgdmengg” coming back the

other way. What is the maximum throughpu indo es 1,7,15 and
1277

(b) What is pipelining? What are its adva
when pipelining frames over an unreli
the approaches to deal with t ro

C

(
(a

atage are the issues that raises
omununication channel? Mention
848

(a) What do you mean b ided¥inedi®? Explain about the different guided

media used for co nicatijon?
(b) Tlustrate how as us transfer mode can be contrasted with the syn-
chronous thier? [10+-6]

fields in message header of e,,4; system?

P types & subtypes? Explain them. [6+10]

a

b

N
e

(a)
(b)
(a) Discuss about the architecture of DQDB Metropolitan Area Network?
(b)

b) What is the advantage of an open system environment? Discuss the different
functions performed by various layers of OSI model. [8+8]

Define route. Why routing algorithm is required. Routes can be predetermined
and then use them when required (or) Routes can be determined when needed and
use them immediately. First method is proactive and second method is reactive.
Which one is preferred for wired networks? Justify your answer. [16]

(a) Identity the address class of the following IP addresses
200.58.20.165, 128.167.23.20, 16.196.128.50, 150.156.10.10
250.10.24.96

(b) Convert the above addresses to binary representation.

(c) A Class B network on the Internet has a subnet mask of 255.255.240.0. What
is the maximum number of hosts per subnet. [5+64-5]

(a) Discuss about the file key assumptions in case of dynamic channel allocation
in LANs and WANs?
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(b) Discuss in detail the working of token bus? [8+8]

* Kk ok ok
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(a) Consider an error-free 64 kbps satellite channel used to send 512 byte data
frames in one direction, with very short acknowledgements coming back the
other way. What is the maximum throughput for window siz ,15 and
1277

(b) What is pipelining? What are its advantages? What a e
when pipelining frames over an unreliable communicatio
the approaches to deal with these errors?

S

uesithat raises
17 Mention
[8+8]

(a) Identity the address class of the following

200.58.20.165, 128.167.23.20, 6.196.128.50 150.156.10.10

250.10.24.96
(b) Convert the above addres presentation.
(c¢) A Class B network on fhe Tutern@g has a subnet mask of 255.255.240.0. What

is the maximum npfimber of Rgsts per subnet. [54+6+5]
(a) Discuss a e fi assumptions in case of dynamic channel allocation
i ?

a

inWdetail the working of token bus? [8+-8]

s about the architecture of DQDB Metropolitan Area Network?
(b) What is the advantage of an open system environment? Discuss the different

functions performed by various layers of OSI model. [8+8]

Define route. Why routing algorithm is required. Routes can be predetermined
and then use them when required (or) Routes can be determined when needed and
use them immediately. First method is proactive and second method is reactive.
Which one is preferred for wired networks? Justify your answer. 16]

(a) What do you mean by guided media? Explain about the different guided
media used for communication?

(b) Ilustrate how asynchronous transfer mode can be contrasted with the syn-
chronous T1 carrier? [10+6]

(a) What are the fields in message header of e,,,; system?
(b) What are SMTP types & subtypes? Explain them. [6+10]

(a) What is the difference between Slow Start and Congestion Avoidance of TCP?
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(b) What is the format of ATM Cell?
(¢) Why ATM uses fixed size cells? [8-+4+4]

* Kk k kK
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1. Define route. Why routing algorithm is required. Routes can be predetermined
and then use them when required (or) Routes can be determined when needed and
use them immediately. First method is proactive and second meth eactive.
Which one is preferred for wired networks? Justify your answer. [16]

2. (a) What are the fields in message header of e,,,; syste
(b) What are SMTP types & subtypes? Explain the [6+10]
3. (a) Discuss about the file key assumptions in mic channel allocation

in LANs and WANSs?

(b) Discuss in detail the working o n bus” 848
4. (a) Consider an error-free 6 p ibe’ channel used to send 512 byte data
frames in one directjo1l, very short acknowledgements coming back the

i

mum throughput for window sizes 1,7,15 and

other way. Whatfis the
1277
(b) What i ? at are its advantages? What are the issues that raises

g frames over an unreliable communication channel? Mention

1
W pipeli
the apptoaghes to deal with these errors? [8+8]

5. (a) Whatddo you mean by guided media? Explain about the different guided
media used for communication?

(b) Hlustrate how asynchronous transfer mode can be contrasted with the syn-
chronous T1 carrier? [10+-6]

6. (a) Discuss about the architecture of DQDB Metropolitan Area Network?

(b) What is the advantage of an open system environment? Discuss the different
functions performed by various layers of OSI model. [8+8]

7. (a) Identity the address class of the following IP addresses
200.58.20.165, 128.167.23.20, 16.196.128.50, 150.156.10.10
250.10.24.96

(b) Convert the above addresses to binary representation.

(c) A Class B network on the Internet has a subnet mask of 255.255.240.0. What
is the maximum number of hosts per subnet. [5+6+-5]

8. (a) What is the difference between Slow Start and Congestion Avoidance of TCP?
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(b) What is the format of ATM Cell?
(¢) Why ATM uses fixed size cells? [8-+4+4]

* Kk k kK
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